MATH-303 F2013 Wiesner Quiz 11 Name
Full credit will only be given to answers that contain full solutions with work shown/explanations.
There are three questions worth a total of 10 points.

1. (3 pts) Define group order and element order. Briefly explain how the two ideas are related if G
is a cyclic group.
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2. (3 pts) Suppose G is a cjrclic group generated by an element @ € G with |a] = 15. List all
generators of G and justify your answer.
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3. (4 pts) Let G be a group and let a be a fixed element in G. Recall that the centralizer of @ in G is

Cla) = {g € G| ga = ag}.

Show that C(a) is a subgroup of G.
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